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Candidates are required to give their answers in their own
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Group-A

Answer any five of the following questions : 2x5=10
1. What is meant by Logic?
2. What is the relation between ‘truth’ and ‘validity’?

3. Transform the following propositions to their logical form :
(a) A few students are wise.

(b) Only peace loving people are socialist.
4. What is deductive argument?

5. What is meant by ‘Existential import’?
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6. Define argument by analogy.
7.  What is induction by simple enumeration?
8.  What is scientific explanation?
Group-B
Answer any four of the following questions : 5x4=20
9. What is the difference between a proposition and a propositional form?
10. What is meant by the Fallacy of denying the antecedent? Explain with example.
11. What is a syllogism? State the general rules of syllogism for validity following copi.
2+3
12. Express the following in the Boolean notation and symbolize them by mean of Venn
Diagram :
(a) There are no poor doctors.
(b) Only non-s are non-p.
13. Explain the different senses in which the word ‘Cause’ is used in logic.
14. Write a short note on the method of Agreement.
Group-C
Answer any three of the following questions : 10x3=30
15. Explain the traditional and Boolean interpretation of the existential import of the
proposition A, E, I and O.
16. Use Venn Diagram to test the validity : 5+5
(a) No one present is uneducated. All members are present. Therefore, all members
are educated.
(b) No non-residents are citizen. All non-citizen are non-voter. Therefore, all voters
are resident.
17. Explain with the criteria for appraising an analogical argument.
18. Explain and examine, after Copi, Mill’s method of Difference.
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19. Answer any two of the following : 5+5
(a) What is the probability of getting at least one head in three tosses of a coin?

(b) What is the probability of getting four cards of the same colour in successive
draws from a deck of card?

(c) What is the probability of getting at least 10 in rolling two dice ?
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